INFEVRVBABARALT—T IV 7/31(KR)~9/3(K)
H N 7K X - o - H
8:25 J190%R 8:25 J290%R%
A ~ (N1 ~7\6) ~ (/\5~m3)
9:25 I\ 9:25 )l
9:30 — AR 9:30 — SR 9:30 t*d'— 9:30 J1 )P 9:30 — AR
B ~ (EREMU L) ~ (EREM L) ~ (EGREL L) ~ (/N1~/]\6) ~ (EGREL L)
10:30 TR 10:30 =) 10:30 e 10:30 JNLL 10:30 IR
10:55 — RS AR 10:55| — SR/ |10.55| —ARFIPIR 10:55 — RS DER 10:35 J290%R 10:35 J190%R
C| ~| BreEb | ~ | BrEUL) | ~ | EREUL) ~ | (BREUL) ~ (/\5~Hh3) ~ (IN1~/]\6)
11:55 I 12:15 Riz]E2 12:15 =) 11:55 i E 11:35 JNLL 11:35 iR E
12:20 — DR 12:20 EF¥F— 12:20 — RSN 12:20 — iR 12:20] WBIVbM>Y 11:40 — iR 11:40 J290%R%
D | ~ (BREM L) ~ (EREM L) ~ (ERE L) ~ (ERE L) ~ (ERE L) ~ (EREL L) ~ (/N5~th3)
13:20 THET 13:20 TEE 13:20 JNLL 13:20 THEF 13:20 IKAE 12:40 =& 12:40 K12
13:45 — DR 13:45| —AKHIRR 13:45 — iR 12:45 J1 9058 12:45 BP1
E | ~ | ErENL ~ | (BREL) ~ | (BREML) ~ (IN1~1)\6) ~ (I~E3)
14:45 L 15:05 =& 14:45 =& 13:45 JNLL 13:45 K ig
15:50 J190%R 15:50 J190%R 15:50 J190%R 15:50 J190%R 15:50 J190%R 13:50 J290%% 13:50  J2#0RER
F ~ (/INL~/]\6) ~ (/INL~7]\6) ~ (/INL~7\6) ~ (/INL~7\6) ~ (/N1~/]\6) ~ (/N5~th3) ~ (/N5~rth3)
16:50 THEF 16:50 Kig 16:50 JNLL 16:50 THET 16:50 == 14:50 =& 14:50 =
16:55 J290%R 16:55] J1¥0RE® |16:55 J190%R 16:55] J2¥IHPE® |16:55 J1 905K 14:55 J190%R 14:55 J190%R
G| ~ (/N5~th3) ~ (/INL~7]\6) ~ (/INL~7\6) ~ (/N5~th3) ~ (/N1~/]\6) ~ (/INL~7]\6) ~ (/N1~7)\6)
17:55 SN 17:55 iz 17:55 SN 17:55 S 17:55 < 15:55 SN 15:55 )|
18:00 BP1 18:00] J1#DER  |1is:00 BP2 18:00 BP1 18:00| IR 16:00 BP1 16:00| J2#IPiR
H ~ (/hM~53) ~ (/INL~7/]\6) ~ (/M~5F3) ~ (/NM~F3) ~ (/N5~th3) ~ (/NM~F3) ~ (/\N5~th3)
19:00 THET 19:00 K12 19:20 =& 19:00 THER 19:00 =& 17:00 i) 17:00 s
19:25| —AEHDER  |10:25| EFF—  |10:25| —HEHDER  |10:25 BP2 19:25 —RRAPIR 17:05 BP2 17:05 BP2
I | ~ | el | ~ | ErENL) | ~ | ErEML) | ~ (IM~E3) ~ | (BREL) ~ (M ~E3) ~ (IM~F3)
20:25 THET 20:25 iR 20:25 =[H 20:45 Kig 20:45 IKAE 18:25 =] 18:25 Kig
20:50| —HREHDPER |[20:.50| —HEHNPER [20:50] —HEPER  |20:50] EFF— 2050 —HEHDER 18:30 BP3 18:30 BP3
] ~ (BRE L) ~ (BRER L) ~ (EREMU L) ~ (ERE L) ~ (EBRER L) ~ (/M~5F3) ~ (/M~53)
22:10 THET 22:10 K12 22:10 == 21:50 K12 21:50 == 19:50 =& 19:50 K12
19:55 BP4 19:55| —HEHIR
~ (th 1 ~X4) ~ (EREL L)
21:15 == 21:15 K2
720 BOFZANVEEL =0 B011-641-2022 % @RYIZFHSISAERDFT.




